
Ekk/;fed f’k{kk e.My] eEkk/;fed f’k{kk e.My] eEkk/;fed f’k{kk e.My] eEkk/;fed f’k{kk e.My] e----iziziziz----] Hkksiky] Hkksiky] Hkksiky] Hkksiky    
gk;j lsds.Mjh ijh{kk 2022gk;j lsds.Mjh ijh{kk 2022gk;j lsds.Mjh ijh{kk 2022gk;j lsds.Mjh ijh{kk 2022    

vkn’kZ vkn’kZ vkn’kZ vkn’kZ iz’u i=iz’u i=iz’u i=iz’u i=    
fo"k; & fo"k; & fo"k; & fo"k; & ys[kkys[kkys[kkys[kk    'kkL= 'kkL= 'kkL= 'kkL=     
ACCOUNTANCY  

d{kk 12ohad{kk 12ohad{kk 12ohad{kk 12oha    
le; & 3 ?k.Vs                                                   iw.kkZad 80 vad 

funZs’k%& ¼i½ lHkh iz’u vfuok;Z gSaA 

¼ii ½ iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSa] ftlesa lgh fodYi 6 vad] fjDr  
     LFkku 7 vad] lgh tksM+h 6 vad] ,d okD; esa mRrj 7 vad] lR;@vlR; 6        
     vad ds iz’u gSaA 

  ¼iii ½ iz’u Øekad 6 ls 15 rd vfr y?kqmRrjh; iz’u gSaA 'kCn lhek 30 'Cn gSA  
           izR;sd iz’u ds fy, 2 vad voafVr gSaA 

  ¼iv½ iz’u Øekad 16 ls 19 rd y?kqmRrjh; iz’u gSaA izR;sd iz’u ds fy, 3 vad  
           vkoafVr gSaA 'kCn lhek 75 'kCn gSA   

  ¼v½ iz’u Øekad 20 ls 23 rd nh?kZ mrjh; iz’u gSaA 'kCn lhek 120 'Cn gSA  
           izR;sd iz’u ds fy, 4 vad vkoafVr gSaA  

    ¼vi½ iz’u Øekad 6 ls 23 rd lHkh iz’uksa ds vkarfjd fodYi fn;s x, gSaA  

   ¼vii ½ la[;kRed iz’uksa esa 'kCn lhek dk ca/ku ugha gSA  

Instruction :- 

(i) All question are compulsory. 
(ii)  Questions No, 1 to 5 are objective type  Questions choose the 

correct options 6 marks. Fill in the blank 7 marks. Match the 
column 6 marks, Answer in one sentence 7 marks, True/False 6 
marks.  

(iii)  Questions No. 6 to 15 very short answer type question word limit 
30 words and 2 marks are allotted to each questions. 



(iv) Questions No. 16 to 19 short answer type questions word limit of 
these questions 75 words and 3 marks are allotted to each 
questions. 

(v) Questions No. 20 to 23 long answer type questions word limit of 
these questions is 120 words and 5 marks are allotted to each 
questions. 

(vi) Questions No. 6 to 23 is given internal options.  
(vii)  No word limit regarding Numerical questions. 

             

iz'u&1    lgh fodYi pqfu, % &         1x6=6 

¼I½       xSj O;kolkf;d laLFkk,a viuk fglkc fdrkc fdl i)fr ls j[krh gSa %& 

    ¼v½ nksgjk ys[kk iz.kkyh  ¼c½ bdgjk ys[kk iz.kkyh  

    ¼l½ jksdM+ iz.kkyh       ¼n½ Hkkjrh; cgh [kkrk i)fr  

 

¼II ½       lkekU; ykHk ij okLrfod ykHk dk vkf/kD; dgykrk gS %& 

    ¼v½ lkekU; ykHk   ¼c½ vkSlr ykHk  

    ¼l½ vkdfLed ykHk ¼n½ vf/k ykHk  

¼III ½       [;kfr  gS %& 

    ¼v½ ,d py laifRr ¼c½ ,d LFkk;h laifRr  

         ¼l½ ,d ewrZ laifRr ¼n½ ,d d`fre laifRr 

¼IV ½       daiuh ds _.k i= /kkjh fdl Js.kh esa vkrs gaS %& 

    ¼v½ Lokeh   ¼c½ ysunkj  

         ¼l½ deZpkjh ¼n½ nsunkj 

¼V½       dkSu lk foRrh; fooj.kksa ds fo’ys"k.k dk midj.k ugha gS %& 

    ¼v½ ryiV   ¼c½ rqyukRed fooj.k  



    ¼l½ vuqikr fo’ys"k.k ¼n½ lekdkj fooj.k 

¼VI ½ jksdM+ izokg fooj.k lacaf/kr gS %& 

    ¼v½ ys[kkadu izeki&3 ls  ¼c½ ys[kkadu izeki&6 ls  

    ¼l½ ys[kkadu izeki&9 ls   ¼n½ ys[kkadu izeki&12 ls  

Choose the correct options – 

(I) Which basis Non-Profit organizations maintain their books of Account ? 
(A)  Double entry system 
(B)   Single entry system 
(C)  Cash system 
(D)  Indian accounting system 

(II)  Excess of actual profit over normal Profit is called ? 
(A)  Normal Profit 

(B) Average Profit 

(C) Contigent Profit   

(D)  Super Profit 
 

(III)  Goodwill is  :-- 
 

(A) Floating assets 

(B) Fixed assets 

(C) Tangible assets   

(D) Fictitious assets 

(IV)  Debenture holders of a company came under the category of  :-- 
 

(A) Owners 

(B) Creditors 



(C) Employees   

(D) Debtors 

(V) The following is not a tool of analysis of Financial Statements :-- 
 

(A) Trial Balance 

(B) Comparative Statement 

(C) Ratio Analysis   

(D) Common size statement 

(VI)  Cash flow statement is related to   :-- 
 

(A) Accounting standard -3 

(B) Accounting Standard-6 

(C) Accounting Standard-9    

(D) Accounting standard -2 

iz'u&2    fjDr LFkku dh iwfrZ dhft, % &      1x7=7 

¼I½       izkfIr Hkqxrku [kkrk------------------------O;ogkjksa dk lkjka’k gS %& 

¼II ½       lk>snkjh Bgjko esa ifjorZu lk>snkjh QeZ dk------------------dgykrk gSA 

¼III ½       lk>snkjh esa lka>snkjksa dk nkf;Ro---------------------gksrk gSA   

¼IV ½       nkf;Roksa esa deh QeZ dk--------------------------gksrk gSA 

¼V½  va’k gj.k [kkrs dk 'ks"k ---------------------[kkrs esa gLrkarfjr fd;k tkrk gSA 

¼VI ½  --------------------------------------va’kksa ij ykHkka’k dh nj fuf’pr gksrh gSA 

¼VII ½  foØ; vuqikrksa dks ------------------------------vuqikr Hkh dgk tkrk gSA 

 



Fill in the blanks :- 

¼I½ Receipts & Payment Account is a summary of………………..translations. 

¼II ½ Change in partnership agreement is called as……………of firm. 

¼III ½ In Partnership the liability of the Partner is……………… 

¼IV ½ Decrease in liability is…………….for a firm. 

¼V½ The balance of share forfeiture account is transferred to …………Account. 

¼VI ½ Rate of dividend is fixed on…………share. 

¼VII ½ Sales Ratios may also be called as called as……………….Ratio. 

iz'u&3    lgh tksM+h cukbZ;s % &       1x6=6 

            v 

 

           c  

i fo?kVu ds Ik’pkr~ izFke Hkqxrku         A Lkk>snkj dk _.k 

ii  Lkk>snkj dh èR;q ij mlds fgLls dk 
Hkqxrku 
 

        B vfuok;Z ugha 

iii  QeZ dk vkarfjd nkf;Ro         C dkuwuh mRrjkf/kdkjh dks 

iv QeZ dk ckg~; nkf;Ro         D vfuok;Z gS 

V Lkk>snkjh lays[k cukuk         E rr̀h; i{k dks  

vi Lk>snkjh esa ykHkksa dk ckaVuk         F cSad _.k 

 

Match the column :- 

A                  B   
 

i First Payment after 
Dissolution 

        A Partner’s Loan 

ii  On death of Partner his share 
is paid 

        B Is not compulsory  



iii  Internal liability of the firm         C To Legal Representative  

iv External liability of the firm         D Is compulsory  

V Preparation of Partnership 
deed 

        E To Third party 

vi Profit distribution in 
partnership 

        F Bank Loan 

 

 

iz'u&4    ,d okD; esa mRrj fyf[k, % &      1x7=7 

¼I½       fo’ks"k dk;Z ds fy, izkIr nku D;k dgykrk gS \ 

¼II ½       cSad vf/kfod"kZ izkfIr Hkqxrku [kkrs ds fdl i{k esa fy[kk tk,xk \ 

¼III ½       vafdr ewY; ls vf/kd ewY; ij va’kksa dk fuxZeu D;k dgykrk gS \ 

¼IV ½       os _.k i= tks va’k esa cnys tk ldrs gSa] D;k dgykrs gSa \ 

¼V½       og iwath ftlls vf/kd va’kksa dk fuxeZu daiuh }kjk ugha fd;k tk  
                ldrk \ 

¼VI ½       izLrkfor ykHkka’k dks daiuh ds fpV~Bs esa fdl 'kh"kZd ds varxZr n’kkZ;k  
                 tkrk gS \ 

¼VII ½       daiuh dh LFkkiuk djus okys O;fDr dks dgrs gSa \ 

 

Write Answer in one Sentence . 

¼I½ Donation received from specific purpose is called ? 

¼II ½ In which side Bank overdraft is written in Receipts and payment  
                Account ? 

¼III ½ The share issued more than face value is called ? 

¼IV ½ What are those debenture more than face value is called which can be  
                   converted in share ? 



¼V½ That capital by which no company can issue more shares ? 

¼VI ½ Under which heading proposed dividend is shown in companies  
                   balance sheet ? 

¼VII ½ The person by whom is a company established is called ? 

iz'u&5    lR;@vlR; fyf[k, % &      1x6=6 

¼I½       izkfIr Hkqxrku [kkrs esa dsoy iwathxr ensa gh fy[krs gaSA 

¼II ½       izhfe;e ,d iwathxr ykHk gSA 

¼III ½       _.k i= vYidkyhu _.k dh izd`fr ds gksrs gSaA 

¼IV ½       daiuh ds fpV~Bs dks {kSfrt :i esa cuk;k tk ldrk gSA 

¼V½       vkdfLed nkf;Roksa dks nkf;Ro i{k ds ;ksx esa lfEefyr fd;k tkrk gSA 

¼VI ½       foRrh; fooj.k O;olk; dh 'kks/ku {kerk ds lwpd gSaA 

Write True/False :- 

¼I½ Only Capital items are shown in the Receipts Payment Account. 

¼II ½ Premium is a Capital Profit. 

¼III ½ Debentures are of short term loan in nature. 

¼IV ½ Company’s Balance Sheet can prepared in Horizontal form. 

¼V½ Contingent liabilities are added in total of liabilities. 

¼VI ½ The Financial statement are indicator of the solvency of business. 

  

iz'u&6    is’ksoj O;fDr fdls dgrs gSa \        2 vad 

Who are Professional person ?  

             vFkok@Or 



izos’k 'kqYd fdls dgrs gSa \ 

  What is entrance fees ? 

iz'u&7  lk>snkjh dh nks fo’ks"krk,¡ fyf[k, A       2 vad 

            Write the two characteristics of Partnership.  

         vFkok@Or 

lk>snkjh laya[k ls D;k vk’k; gS \ 

  What is Partnership deed  ?  

iz'u&8  R;kx vuqikr D;k gS \       2 vad 

            What is sacrificing ratio ?  

         vFkok@Or 

lk>snkjh QeZ ds iquxZBu ls D;k rkRi;Z gS \ 

  What is meant by reconstitution of Partnership firm  ?  

iz'u&9  lk>snkj ds fuo`Rr gksus ds nks dkj.k fyf[k,A      2 vad 

            Write two causes of retirement of Partner.  

         vFkok@Or 

oS/kkfud izfrfuf/k ls D;k vk’k; gS \ 

  What is meant by legal representative  ?  

iz'u&10  lk>snkjh QeZ ds fo?kVu ls D;k vk’k; gSA      2 vad 

            Write is meant by dissolution of partnership firm.  

         vFkok@Or 

U;k;ky; }kjk QeZ ds fo?kVu dh fdUgha nks ifjfLFkfrksa dks fyf[k, \ 

         Write any two circumstances when a court can issue orders for  
        dissolution of a firm  ? 



iz'u&11  vkuqikfrd vkoaVu D;k gSA      2 vad 

            What is Pro-rata allotment ?  

         vFkok@Or 

vU; vfHknku ls D;k vk’k; gS \ 

         What is meant by under subscription  ?  

iz'u&12  lerk va’k dh nks fo’ks"krk,a fyf[k,A      2 vad 

            Write two characteristics of equity share ?  

         vFkok@Or 

va’kksa ds le ewY; ij fuxZeu ls D;k vk’k; gS \ 

         What is the meaning of issue of par  ?  

iz'u&13  okgd _.k i= dks le>kbZ;sA      2 vad 

            Describe the bearer debenture ?  

         vFkok@Or 

'kks/; _.k i= fdls dgrs gSa \ 

Describe the bearer debenture. 

iz'u&14  foRrh; fooj.k ls D;k vk’k; gSA      2 vad 

            What is meant by Financial statement ?  

         vFkok@Or 

foRrh; fooj.k ds nks mn~ns’; fyf[k, \ 

          Write two objective of Financial statement ? 

iz'u&15  dk;Z’khy iwath D;k gSA      2 vad 

            What is working Capital ?  



         vFkok@Or 

vuqikr fo’ys"k.k ls D;k vk’k; gS \ 

           What is Ratio analysis ?  

iz'u&16  izkfIr Hkqxrku ,oa vk;&O;; [kkrs esa rhu varj fyf[k,A    2 vad 

Write three difference between Receipts Payment and Income Expenditure     
Account ?  

         vFkok@Or 

,d iqLrdky; ds [kkrksa ls izkIr fuEu lwpukvksa ls o"kZ 2020 ds fy, izkfIr 
Hkqxrku [kkrk cukbZ;s& izkjafHkd jksdM+ 'ks"k 4000 :- o"kZ 2020 esa izkIr izos’k 'kqYd 
600 :- izkIr pans o"kZ 2020 gsrq 1000 :- o"kZ 2020 esa o"kZ 2019 gsrq izkIr 200 :- 
o"kZ 2020 esa fdjk;k pqdk;k 150 :- iqLrdsa Ø; dh 1000 :- lekpkj i= Ø; 500 
:- osru pqdk;k 500 :- \ 

          Prepare Receipts and payment account of the library for the year 2020. 
The following are the information in the accounts of Library opening cash 
balance 4000. Entry fees received  in 2020 R. 600. Subscription received for 
2020 Re 1000 and for 2019 (during 2020)  Re. 200.  Rent paid during 2020 
Re. 150, Books purchased Re. 1000, News Paper purchased Re. 500 Salaries 
paid Re. 500.  

iz'u&17  iqueZwY;kadu [krk ,oa olwyh [kkrs esa rhu varj fyf[k,A    2 vad 

Write three difference between Revaluation Accounts and Realisation     
Account ?  

         vFkok@Or 

X, Y, Z ykHk gkfu dks 3%2%1 ds vuqikr esa ckaVrs gSa Z vodk’k xzg.k djrk gS 
mldk fgLlk X vkSj Y ds }kjk 2%1 ds vuqikr esa fy;k tkrk gSA u, ykHk 
foHkktu vuqikr dh x.kuk dhft, \ 



          X, Y, Z are partners Sharing Profit in the Ratio of  3:2:1 .Z retires and 
his share is taken-up by X and Y in the ratio 2:1. Calculate the new Profit 
sharing ratio. 

iz'u&18  va’k vkSj Ldan esa rhu varj fyf[k,A       3  vad 

Write three difference between Share and Stock ?  

         vFkok@Or 

,d lhfer nkf;Ro okyh daiuh us oekZ VªsMlZ ls 72000 ewY; dh laifRr [kjhnh 
blds Hkqxrku esa 100 :- okys iw.kZnRr lerk va’k le ewY; ij fuxZfer fd;sA 
vko’;d izfof"V dhft, \ 

A limited company purchased Assets worth  Re. 72000 Form Verma 
Traders. It issued fully paid up equity share at Rs. 100 each at par for 
Payment. Pass the necessary Journal entries. 

iz'u&19  ,d vkn’kZ foRrh; fooj.k dh rhu fo’ks"krk,a fyf[k,A   3  vad 

Write three characteristics an Ideal Financial statement ?  

         vFkok@Or 

foRrh; fooj.kksa ds fo’ys"k.k dh rhu lhek,a fyf[k, \ 

Write three limitations of analysis of Financial Statement. 

iz'u&20  iyk’k vkSj izkaty 1 tuojh] 2020 ls fcuk fdlh le>kSrs ds lk>snkj gSa vkSj 
Øe’k% 10]000@& ,oa 5]000@& dh iwath yxkrs gSaA 31 vxLr dks iyk’k fcuk fdlh 
C;kt ds le>kSrs ds QeZ dks 4000 +_.k nsrk gSA o"kZ 2020 dk ykHk gkfu [kkrk 5]000@& 
dk ykHk n’kkZrk gS] fdarq lk>snkjksa ds e/; ykHk ,oa C;kt ds e/; ugha gks ik;kA 
ykHk&gkfu forj.k [kkrk cukbZ;sA                                   4  vad 

Palash and Pranjal are partners without any agreement on 1st January and 
they introduced capital 10,000/- and 5,000/- Rs. Respectively. On 31st 
August2020 Palash advances to the firm Rs. 4,000/- on loan. The profit and 
loss account for the year 2020 shows Profit of Rs. 4,000/- the partners are 
not agreed upon the question of interest and division of Profit. Prepare Profit 
and Loss account.  



         vFkok@Or 

LFkk;h iwath [kkrk ,oa ifjorZu’khy iwath [kkrs esa varj fyf[k, \ 

Write differentiate between fixed capital Account and fluctuating Capital 
Account. 

iz'u&21  ,d QeZ dk vkSlr ykHk :- 25]000@& gSA lkekU; ykHk dh nj 10 % gSA QeZ 
dh laifRr;ka 3]00]000@& rFkk nkf;Ro 1]25]000@& gSA vf/k ykHk ds nks o"kZ ds Ø; ds 
vk/kkj ij [;kfr dk ewY; Kkr dhft,A                                                 4 vad 

A Firm earns annual Profit of Rs. 25,000/- the rate of Normal return is 10 % 
The Assets of firm is worth 3,00,000/- and liabilities Rs. 1,25,000/- Find out 
the value of goodwill on the basis of two years purchase of super Profit.  

         vFkok@Or 

v vkSj c 3%1 ds vuqikr esa ykHk@gkfu foHkktu djus okys lk>snkj gSaA mUgksaus l 
dks 1@5 fgLlk nsdj lk>snkj cuus dk fu’p; fd;kA l ds izos’k ij lEifRr;ksa 
,oa nkf;Roksa dk iqueZwY;kadu fuEu izdkj ls fd;k x;k& 

¼1½ LVkWd tks :- 15]000@& dk n’kkZ;k x;k gS dk ewY; :- 20000@& vkadk x;k 

¼2½ 20000 ds ;a= ij 10 % gzkl dkVuk gSA 

¼3½ 10000 ds nsunkj ij 5 % vkSj 12]000@& ds nsunkjksa ij  2% dk vk;kstu 
fd;k x;kA mi;qZDr lek;kstuksa ls iqueZwY;kadu [kkrk cukbZ;sA 

A and B are partners in the ratio of 3:1 They decided to admit C for 1/5th 
share. The assests and Liabilities were revalued on C’s admission as under : 

(i) Stock shown at Rs. 15,000 was revalued at Rs. 20,000/- 
(ii)  10 % depreciation to be changed on plant Rs. 20,000/- 
(iii)  Provision of @ 5% on debtors Rs. 10,000 and provision @ 2% 

creditors Rs. 12000 is to be made 
 
Prepare Revaluation Account.  

  



iz'u&22  iwokZf/kdkj va’kksa ds fdUgha pkj izdkjksa dk o.kZu dhft,A                                 4 vad 

                 Describe any four types Preference share. 

           vFkok@Or 

ljdkj fyfeVsM ds ikl 100 :- okys 25 lerk va’k Fks] ftlesa ls mlus 20 :- 
vkosnu i= ds fn;s] ysfdu vkoaVu ds 80 :- vkSj izFke ;kpuk ds 20 :- og ugha 
ns ldkA lapkydksa us izFke ;kpuk ds ckn va’kksa dk gj.k dj fy;k gj.k ls lacaf/kr 
udy izfof"V dhft,A 

Firm Sarkar Limited was holding  25 equity share of Rs. 100 each on which 
he paid Rs 20 on application but could not pay Rs. 30 on allotment and Rs. 
20 on first call. Directors forfeited the shares after first call. Give journal 
entry for recording the forfeiture of share. 

iz'u&23  fuEufyf[kr ls pkyw vuqikr Kkr dhft,A     4  vad 

  

Yksunkj 100000 LFkk;h laifRr;ka 750000 
vnRr osru 12000 LVkd 250000 
ns; foi= 88000 nsunkj 75000 
iwoZnRr O;; 5000 cSad esa jksdM+ 270000 

 

Calculate current Ratio of the following.  

Creditors out 
standing 

100000 Fixed Assets 750000 

Salaries 12000 Stock 250000 
Bills Payable 88000 Debitors 75000 
Prepaid 
Expenses 

5000 Cash at Bank 270000 

 

         vFkok@Or 

fuEufyf[kr lwpuk ls LVkWd vkorZ vuqikr dh x.kuk djsa foØ; :- 400000 vkSlr 
LVkd :- 40000] ldy ykHk vuqikr 10% 



        From the following information calculate stock turnover Ratio Sales 400000 
 Average stock 40000 Crores Profit Ration 10%  



 

 

 


